SUMPOBRIEIANIL OIS I

SuMPO EPD
SEUMSDD - — A EE A AT IR K
EPD S4TNBRHEEE (EPD) SRET I8
VERIFIED KANDA SQUARE GATE

ﬁﬁ%% ¢ JR-AI-25209E-A https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BEDAIVL EYRR 4 /N-Yauktatt
FUJIFILM Business Innovation Corp.

A3 hS—EEGHK

A3 Color Multifunction Printer

e - ApeosPort C3570 (Model-PFS)

(for JP)

Apeos. Apeos OJ. ApeosPro. ApeosPort H&U ApeosPrint (&, BEIMIVAESRZAA IR A OB REIEFEBIETT .
Xerox. Xerox OJ. 8&LUFuji Xerox 0T, KELOVI AT OEEREIEE(ELFEIZETT,

BEHE(
WETLBLY

BEX RERPE
[ =39 O B
ORMETAZE QFE @iiE @ER - i
®OFZE-UY1I)

RAEORKX, TEL&K-FE
B : ApeosPort C3570 (Model-PFS)
FELKR N5-EEHE EPAR)
ENRIEEE £/70 35ppm (A4 LEF)
$15— 35ppm (A4 LEF)
RAFEYA X SRA3(320x450 mm),
12x18"(305x457 mm). A3

TUY/IE=/AF v/ FAX
i FN R e /ADF (R B B oA )

FUWEhES
ELTMIWLEIRZAM ) R-Vavratt
BETMAEXAGEHOWV6T B1E
https://www.fujifilm.com/fb/

ERES JR-AI-25209E-A
BERAPCRES  PA-590000-Al-08
PCR% YN AL 25
2~FHA 2025%11A21H

RELEHE 20254108218
RIEAR YATLRFEA R
RIEES 2025-FB-EL-064
TREEE#EAR 20305108208
PCRLE1-DENE
REHZ 2023F 98 1H
ZER #i B2
(FTE —MAtEiE AY AT IR B HEEREHS)
BoEREE BHE T
NEBIRAES
ISO14025(25E 512 ARE & R UT -5 DIz LI AR EE
OREB AR

*YATLFRAER IR RERORIIDBEE YATLREETLEEED
HEIE .

Z#&ES ¢ JR-AI-25209E-A


https://ecoleaf-label.jp
https://www.fujifilm.com/fb/

SuMPO SuMPO EPD SUMPOBRIESAIV IO s

E p D —— —RALEEAY AT H IR EHEE
SpEFY 14T NBEEE (EPD) T REXAHE-14-8
VERIELED KANDA SQUARE GATE
EiFHs . JR-Al-25209E-A https://ecoleaf-label jp
F1ITH1 IV EZETFmE R
o . - fEF - HEHs
RETRERR | LSRR TRIBER B e BEEERFE
28
S[REE - &t kg-CO2eq 8.88E+02 2.75E+01 5.31E+01 1.25E+02 1.51E+02
AV BHIE kg-CFC-11eq 6.12E-05 4.63E-08 2.63E-08 3.91E-06 3.32E-08
EREL kg-PO.3-eq 1.57E-02 1.23E-03 1.87E-04 5.61E-03 1.83E-04
iz E(d kg-SO:zeq 2.30E+00 1.84E-01 6.59E-02 5.76E-01 1.64E-01
HALRZAFIIVE kg-CzHaeq 1.71E-02 4.20E-05 4.43E-04 1.11E-03 1.29E-03
FEMERS - S kg-Sbeq 8.66E-01 1.02E-04 1.35E-05 4.49E-02 3.20E-05

179171 IRY IS REEER

—REROEMICEAT I

FERIFEERR | RUSERR T ER B ﬁ?ﬁg w9 BEZEER RS
BEARE—XRER - IRIF- (RPRy) M) 1.73E+03 2.33E+02 9.74E+00 6.27E+02 7.20E+01
BEARE—RER - IRLF-2EME (RPRy) M) 1.59E+01 3.91E-03 2.52E+02 6.71E+02 1.35E-02
FEFLERE—RETR - TRILF— (NRPRp) M) 1.44E+04 9.47E+02 6.13E+02 3.00E+03 8.40E+02
EFETH—RER - TRE-2EHE (NRPR,) M) 1.74E+03 2.96E-01 2.83E+00 2.55E+02 1.76E-01
HRIKDHEEE m? 4.50E+00 2.55E-02 2.65E+01 7.08E+01 1.29E-02

HERRICEIZEMIER

-BAREEAFERELTEELELE,
EEMEPHR)DIZEEYFUATEELTVET,
S G OB E AR5 ER T,
-fEF - MR ICB T BEIRIA RO B H S EENE A,
ERABOEAIE. IRNF-R5-T0JTLVer3 28 #(CR->THELETECIEZTICEE LELE,
EEENRIARERIL, 182,4001TF,
1/4 x32 (YaJ/B) x 19(#) x 5 (H) x4 (@) x 12 (7 B) x 5 (5F) = 182,400%%

Z D DIRE R EHIR
CIRINF-RF-T0Y5LVer3.2 BE,

MRBSUMECEI T RS FEMELCEAI SRR

- 9E (EREBS) Bifig 15H CAS No. ENE
Ems 63 kg - B
SuUs 1.2 kg - B }
TIVIZUL 0.85 kg
zofteE 9.8 kg EALEZRT-590Z X5
T5AFvH 42 kg [REALL, LCIT-9R-RIDEA Ver3.4, SUMPORIEININTOIS L BT
myN 0.20 kg Ver.1.16ZERALTNET,
A3 1.8 kg
AR 9.0 kg
LA EEAR 4.1 kg
2 iR 6.3 kg ET 1 2025511 825H
Z0ft 5.9 kg FEERRDIAdditional explanation] D—EBEZE,

OT-YHENHEIE. PCRELVHEE - EERBESBL I,
OLR(IDONTR BE - EERBICRESNRGEHLLEISEICLIRDONEEA,
(BER5URL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

